
Effective July 18, 2025
Modified July 21, 2025

Parts List 
02WP Trim

Item Order Part # Description List Price

1 105245-9 Wire pull, brushed stainless steel finish $264.60

2 PP-5067-25 1/4" Lockwasher $1.17

3 102272-2 1/4" Finish Washer $1.17

4
105624 1/4-20 x 2-3/4" Phillips pan head screw $2.33

105638 1/4-20 x 3.0" Phillips pan head screw $2.33

5
102271-144 1/4-20 x 2-3/4" Phillips flat head screw $1.17

102271-148 1/4-20 x 3.0" Phillips flat head screw $2.33

Your particular part or configuration may not be shown:
Contact Detex technical support at 800-729-3839 (option 2)

TOOLS AND SUPPLIES

 Safety Glasses
 Pencil
 Center Punch
 Hammer
 Power Drill
 Drill Bit & Tap Set
 Screw Driver (Phillips Drive)
 Tape Measure

104872   Page 2

P/N DescriptionItem

1

PARTS BREAKDOWN

Wire Pull105245-X

QTY

1
1
2

42

1

2
3

4

5 2

PP-5067-25
102272-2
105624
105638

102271-144

1/4" Lockwasher
1/4" Finish Washer
1/4-20 x 2-3/4" PPH Screw (for 1-3/4" to 2" thick doors)

102271-148

5
3

1/4-20 x 3" PPH Screw       (for 2" to 2-1/4" thick doors)
1/4-20 x 2-3/4" PFH Screw (for 1-3/4" to 2" thick doors)
1/4-20 x 3" PFH Screw       (for 2" to 2-1/4" thick doors)

1


